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Divisibility Rule - 5

Fill in the blanks and underline the correct choice.

1) 85 2) 234

a) The last digit is a) The last digit is

b) 85 is divisible / not divisible by 5. b) 234 is divisible / not divisible by 5.
3) 560 4) 55

a) The last digit is a) The last digit is

b) 560 is divisible / not divisible by 5. b) 55 is divisible / not divisible by 5.
5) 842 6) 410

a) The last digit is a) The last digit is

b) 842 is divisible / not divisible by 5. b) 410 is divisible / not divisible by 5.
7) 40 8) 336

a) The last digit is a) The last digit is

b) 40 is divisible / not divisible by 5. b) 336 is divisible / not divisible by 5.
9) 971 10) 105

a) The last digit is a) The last digit is

b) 971 is divisible / not divisible by 5. b) 105 is divisible / not divisible by 5.

11) 90 12) 678
a) The last digit is a) The last digit is
b) 90 is divisible / not divisible by 5. b) 678 is divisible / not divisible by 5.
13) 764 14) 315
a) The last digit is a) The last digit is
b) 764 is divisible / not divisible by 5. b) 315 is divisible / not divisible by 5.
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